


Air pollution is one of the most important environmental
problem which involves all the population living in the

European Union, so we have to fry to find some of the possible
solutions to the problem all together.

For example they could be the promoting use of electrical
transport and low-pollutant waste disposal.



Insufficient salaries




In Europe most of the people have bad pay.

The companies like to cheap labor, in Hungary
teacher have bad pay too.

That's why refired people not have enought money
to what retired people they wanna do.

More workplaces is our opinion, they work more
and the pensions is more than now.

More companies in the country. Make a new
businesses opportunity.



